

# A Generalized Definition of Joint Hyponormality

M. Hazarika <sup>1</sup> and B. Kalita

Department of Mathematical Sciences  
Tezpur University, Napam, Assam, India

## Abstract

In this paper, we generalise the definition of joint hyponormality [1]. For  $T = (T_1, \dots, T_m)$  and  $S = (S_1, \dots, S_n)$  with  $T_j, S_i \in B(\mathcal{H})$ , we define the *joint commutator* of  $T$  and  $S$ , denoted by  $[T, S]$ , as the  $n \times m$  operator matrix  $([T_j, S_i])$ . Next we propose the definitions of strong and weak hyponormality of  $((T_1, T_2), T_3)$ . Using the results and properties established from these definitions we find conditions under which the strong and weak hyponormality of  $(T_1, \dots, T_n)$  become equivalent.

**Mathematics Subject Classification:** 47B20, 47B35

**Keywords:** hyponormality, k-hyponormality, joint hyponormality, weak hyponormality.

## 1 Introduction

Here  $\mathcal{H}$  denotes a separable complex Hilbert space and  $B(\mathcal{H})$  denotes the space of all bounded linear operators on  $\mathcal{H}$ .

We recall here a few definitions which will be frequently referred to in the paper.

**Definition 1.1.** [3] A *commutator* is an operator of the form  $PQ - QP$ , where  $P$  and  $Q$  are operators on a Hilbert space. It is usually denoted by  $[P, Q]$ . Moreover,  $[A^*, A] = A^*A - AA^*$  is referred to as the self commutator of  $A$ .

**Definition 1.2.** [1] For  $T_1, \dots, T_m \in B(\mathcal{H})$ , the tuple  $T = (T_1, \dots, T_m)$  is *hyponormal*, or the operators  $T_1, \dots, T_m$  are *jointly hyponormal* if  $\mathcal{C}(T) = ([T_j^*, T_i]) \geq 0$  on  $\mathcal{H}^{(m)}$ . Moreover, if  $\{S_\gamma\}_{\gamma \in \Gamma}$  is a family of operators in  $B(\mathcal{H})$ , then  $\{S_\gamma\}_{\gamma \in \Gamma}$  is said to be jointly hyponormal if  $(S_{\gamma_1}, \dots, S_{\gamma_m})$  is hyponormal for every finite index set  $\{\gamma_1, \dots, \gamma_m\} \subset \Gamma$ .

---

<sup>1</sup>munmun@tezu.ernet.in

**Definition 1.3.** [4] For any positive integer  $k$ ,  $T \in B(\mathcal{H})$  is  $k$ -hyponormal if  $(T, T^2, \dots, T^k)$  is hyponormal .

**Definition 1.4.** [4] For  $T_1, \dots, T_n \in B(\mathcal{H})$ , the  $n$ -tuple  $T = (T_1, \dots, T_n)$  is *weakly hyponormal* if  $\{\sum_{i=1}^n \lambda_i T_i : \lambda_1, \dots, \lambda_n \in \mathbb{C}\}$  consists entirely of hyponormal operators.

**Definition 1.5.** [4] For any positive integer  $k$ ,  $T \in B(\mathcal{H})$  is *weakly  $k$ -hyponormal* if  $(T, T^2, \dots, T^k)$  is weakly hyponormal.

**Definition 1.6.** [7]  $T \in B(\mathcal{H})$  is *polynomially hyponormal* if it is weakly  $k$ -hyponormal for all  $k \geq 1$ .

## 2 Motivation

In [4] the concept of joint hyponormality has been used extensively to study the relative position of the class of subnormals inside the class of hyponormals. It has been shown in proposition 1 [1] and also in corollary 2.3 [4] that  $T = (T_1, \dots, T_m)$  hyponormal implies  $T$  is weakly hyponormal. However, the converse need not be true as shown by several examples [5], [6]. Hence the question arises that “under what conditions will the converse also hold ?” In this context we have the following result:

**Proposition 2.1.** [1] : If  $T_1$  is hyponormal and  $T_2$  is normal, then  $(T_1, T_2)$  is hyponormal if and only if  $(T_1, T_2)$  is weakly hyponormal.

Our aim in this paper is to extend this result to any  $n$ -tuple of operators  $T = (T_1, \dots, T_n)$ . This gives us the motivation to work in the following direction :

- Propose the definition of joint commutator of  $T = (T_1, \dots, T_m)$  and  $S = (S_1, \dots, S_n)$ .
- Using (a), give suitable definitions for strong and weak hyponormality of  $((T_1, T_2), T_3)$ .

## 3 Definition and properties of joint commutator

**Definition 3.1.** For  $T_1, \dots, T_n$  in  $B(\mathcal{H})$  and  $T = (T_1, \dots, T_n)$ , we define the adjoint of  $T$  as  $T^* = (T_1^*, \dots, T_n^*)$ .

**Definition 3.2.** For  $T = (T_1, \dots, T_m)$  and  $S = (S_1, \dots, S_n)$  with  $T_j, S_i \in B(\mathcal{H})$ , we define the joint commutator of  $T$  and  $S$ , denoted by  $[T, S]$ , as the  $n \times m$  operator matrix  $([T_j, S_i])$ . For  $n = m$ , we say  $[T, S] \geq 0$  if  $([T_j, S_i]) \geq 0$ .

**Remark 3.1.** Though the joint commutator of  $T$  and  $S$  is denoted by  $[T, S]$ , it is not defined in the sense  $TS - ST$ , as will be seen from remark(3.2). However, we still use the notation  $[T, S]$  as several basic properties of ordinary commutators continue to hold for joint commutators as will be seen from properties P1 to P5.

**Definition 3.3.** For  $T = (T_1, \dots, T_m), P = (P_1, \dots, P_r), S = (S_1, \dots, S_n), Q = (Q_1, \dots, Q_w)$  we define the joint commutator of  $(T, P)$  and  $(Q, S)$  as

$$[(T, P), (Q, S)] := \begin{pmatrix} [T, Q]_{w \times m} & [P, Q]_{w \times r} \\ [T, S]_{n \times m} & [P, S]_{n \times r} \end{pmatrix}_{(w+n) \times (m+r)}$$

**Definition 3.4.** Let  $T = (T_1, \dots, T_m)$  where  $T_1, \dots, T_m$  are in  $B(\mathcal{H})$ . Also for  $A_{ij}, B_{\lambda\mu}$  in  $B(\mathcal{H})$ , let  $A = (A_{ij})$  and  $B = (B_{\lambda\mu})$  be two operator matrices of size  $m \times n$  and  $p \times m$  respectively. We define  $BT := ((BT)_1, \dots, (BT)_p)$  and  $TA := ((TA)_1, \dots, (TA)_n)$ , where

$$(BT)_\lambda := \sum_{\mu=1}^m B_{\lambda\mu} T_\mu \text{ for } 1 \leq \lambda \leq p \tag{1}$$

$$(TA)_j := \sum_{i=1}^m T_i A_{ij} \text{ for } 1 \leq j \leq n \tag{2}$$

**Remark 3.2.** For  $T = (T_1, \dots, T_m)$  and  $S = (S_1, \dots, S_m)$  we get  $TS = \sum_{i=1}^m T_i S_i$  and  $ST = \sum_{i=1}^m S_i T_i$  (by (1) above). Thus  $TS - ST = \sum_{i=1}^m [T_i, S_i]$ . But taking  $n = m$  in definition(3.2) we get  $[T, S] = ([T_j, S_i])_{m \times m}$ . Hence  $[T, S]$  cannot be interpreted as  $TS - ST$  as already mentioned in remark(3.1)

**Properties :** For  $T = (T_1, \dots, T_m)$  and  $S = (S_1, \dots, S_n)$ , we list below a few properties of the commutator of  $T$  and  $S$ .

P1.  $[T, S] = -[S, T]^t$  where  $t$  denotes transpose of a matrix.

P2.  $[T, S] = [S^*, T^*]^*$ .

P3.  $[T, T] = 0$  if and only if  $[T_j, T_i] = 0, \forall i, j$ .

P4.  $\alpha[T, S] = [\alpha T, S] = [T, \alpha S]$  for any scalar  $\alpha$ .

P5.  $[T + T', S + S'] = [T, S] + [T, S'] + [T', S] + [T', S']$

where  $T'$  and  $S'$  are  $m$  tuples and  $n$  tuples respectively of operators in  $B(\mathcal{H})$ .

P6.  $[T, S] \geq 0$  if and only if  $\sum_{i,j=1}^m \langle S_i x_j, T_j^* x_i \rangle - \sum_{i,j=1}^m \langle T_j x_j, S_i^* x_i \rangle \geq 0$  for all  $x_1, \dots, x_m \in \mathcal{H}$ , provided  $m = n$ .

P7.  $[T, T] \geq 0$  if and only if  $\sum_{i,j=1}^m \langle [T_j, T_i] x_j, x_i \rangle_{\mathcal{H}} \geq 0$  for all  $x_1, \dots, x_m \in \mathcal{H}$ .

Also for  $A_{ij}, B_{\lambda\mu}$  in  $B(\mathcal{H})$ , if  $A = (A_{ij})$  and  $B = (B_{\lambda\mu})$  are operator matrices of size  $m \times p$  and  $q \times n$  respectively then we have the following :

P8.  $(TA)^* = A^* T^*$  and  $(BS)^* = S^* B^*$ .

P9.  $[TA, BS] = B[T, S]A$  provided  $[B_{\lambda\mu}, A_{ij}] = [A_{ij}, S_\mu] = [B_{\lambda\mu}, T_i] = 0$

for all  $1 \leq i \leq m$ ,  $1 \leq j \leq p$ ,  $1 \leq \lambda \leq q$ ,  $1 \leq \mu \leq n$ .

P10.  $[(BS)^*, BS] = B[S^*, S]B^*$  provided  $[B_{\lambda\mu}, B_{ij}^*] = [B_{\lambda\mu}^*, S_\mu] = 0 \forall i, j, \lambda, \mu$ .

Proof of P1:

$$[T, S] = ([T_j, S_i])_{n \times m} = (-[S_i, T_j])_{n \times m} = -([S_j, T_i])_{m \times n}^t = -[S, T]^t$$

Proof of P2 :

$$\begin{aligned} [T, S] &= ([T_j, S_i])_{n \times m} \\ &= ([T_i, S_j]^*)_{m \times n}^*, \quad \text{since } ([T_j, S_i])_{n \times m}^* = ([T_i, S_j]^*)_{m \times n} \\ &= ([S_j^*, T_i^*])_{m \times n}^*, \quad \text{since } [T_i, S_j]^* = [S_j^*, T_i^*] \\ &= [S^*, T^*]^*, \quad \text{since } [S^*, T^*] = ([S_j^*, T_i^*])_{m \times n} \end{aligned}$$

Proof of P3 :

From definition(3.2),  $[T, T] = ([T_j, T_i])$  and so  $T$  commutes with itself if and only if  $T_i$  and  $T_j$  commute for all  $i$  and  $j$ .

Proof of P4 :

$$\alpha[T, S] = \alpha([T_j, S_i]) = (\alpha[T_j, S_i]) = ([\alpha T_j, S_i]) = ([(\alpha T)_j, S_i]) = [\alpha T, S]$$

Similarly,  $\alpha[T, S] = [T, \alpha S]$

Proof of P5 :

We have  $T = (T_1, \dots, T_m)$ ,  $T' = (T'_1, \dots, T'_m)$ ,  $S = (S_1, \dots, S_n)$ ,  $S' = (S'_1, \dots, S'_n)$   
Thus,  $T + T' = (T_1 + T'_1, \dots, T_m + T'_m)$ ,  $S + S' = (S_1 + S'_1, \dots, S_n + S'_n)$  and

$$\begin{aligned} [T + T', S + S'] &= ((T + T')_j, (S + S')_i) \\ &= ([T_j + T'_j, S_i + S'_i]) \\ &= ([T_j, S_i] + [T_j, S'_i] + [T'_j, S_i] + [T'_j, S'_i]) \\ &= ([T_j, S_i]) + ([T_j, S'_i]) + ([T'_j, S_i]) + ([T'_j, S'_i]) \\ &= [T, S] + [T, S'] + [T', S] + [T', S'] \end{aligned}$$

Proof of P6 :

Let  $x_1, \dots, x_m$  be in  $\mathcal{H}$  and  $x$  be the transpose of the row vector  $(x_1, \dots, x_m)$ .

For  $m = n$ ,

$$\begin{aligned} [T, S] \geq 0 &\Leftrightarrow ([T_j, S_i]) \geq 0 \\ &\Leftrightarrow \langle ([T_j, S_i])x, x \rangle_{\mathcal{H}^{(m)}} \geq 0 \\ &\Leftrightarrow \sum_i \langle \sum_j [T_j, S_i] x_j, x_i \rangle_{\mathcal{H}} \geq 0 \\ &\Leftrightarrow \sum_{ij} \langle (T_j S_i - S_i T_j) x_j, x_i \rangle \geq 0 \quad (3) \\ &\Leftrightarrow \sum_{i,j=1}^m \langle S_i x_j, T_j^* x_i \rangle - \sum_{i,j=1}^m \langle T_j x_j, S_i^* x_i \rangle \geq 0 \end{aligned}$$

Proof of P7 :

$[T, T] \geq 0$  if and only if  $\sum_{ij} \langle [T_j, T_i] x_j, x_i \rangle \geq 0$ , for all  $x_1, \dots, x_m \in \mathcal{H}$  (by (3))

of proof P6).

Proof of P8 :

Here  $T = (T_1, \dots, T_m)$ ,  $A = (A_{ij})_{m \times p}$  and so  $TA := ((TA)_1, \dots, (TA)_p)$  where  $(TA)_j := \sum_{i=1}^m T_i A_{ij}$ . Therefore,  $(TA)_j^* = (\sum_{i=1}^m T_i A_{ij})^* = \sum_{i=1}^m A_{ij}^* T_i^* = \sum_{i=1}^m (A^*)_{ji} T_i^* = (A^* T^*)_j$ . Hence,  $(TA)^* = A^* T^*$  and similarly  $(BS)^* = S^* B^*$ .

Proof of P9 :

$$\begin{aligned}
[TA, BS] &= ((TA)_j, (BS)_\lambda)_{q \times p} \\
&= ((TA)_j, (BS)_\lambda)_{q \times p} \\
&= ([\sum_{i=1}^m T_i A_{ij}, \sum_{\mu=1}^n B_{\lambda\mu} S_\mu]) \\
&= (\sum_{i=1}^m \sum_{\mu=1}^n [T_i A_{ij}, B_{\lambda\mu} S_\mu]) \\
&= (\sum_{i=1}^m \sum_{\mu=1}^n B_{\lambda\mu} (T_i S_\mu - S_\mu T_i) A_{ij}), \text{ as } [A_{ij}, B_{\lambda\mu}] = [T_i, B_{\lambda\mu}] = [A_{ij}, S_\mu] = 0 \\
&= (\sum_{i=1}^m \sum_{\mu=1}^n B_{\lambda\mu} [T_i, S_\mu] A_{ij}) \tag{4}
\end{aligned}$$

Again,  $B = (B_{\lambda\mu})_{q \times n}$  and  $[T, S] = ([T_i, S_\mu])_{n \times m}$

This gives  $B[T, S] = (\sum_{\mu=1}^n B_{\lambda\mu} [T_i, S_\mu])_{q \times m}$

Also,  $A = (A_{ij})_{m \times p}$  and so,

$$B[T, S]A = (\sum_{i=1}^m \sum_{\mu=1}^n B_{\lambda\mu} [T_i, S_\mu] A_{ij})_{q \times p} = [TA, BS] \text{ (by (4) above)}$$

Proof of P10 :

$$[(BS)^*, BS] = [S^* B^*, BS] = B[S^*, S]B^*, \text{ (by property P8 and P9)}$$

## 4 Strong and weak hyponormality of $((T_1, T_2), T_3)$

**Definition 4.1.** For  $T_1, T_2, T_3$  in  $B(\mathcal{H})$ ,  $((T_1, T_2), T_3)$  is said to be (strongly) hyponormal if  $[((T_1, T_2), T_3)^*, ((T_1, T_2), T_3)] \geq 0$  where the joint commutator is defined as in definition (3.3), and  $((T_1, T_2), T_3)^*$  is defined as  $((T_1, T_2)^*, T_3^*)$  in keeping with definition (3.1)

**Proposition 4.1.** If  $T_1, T_2, T_3$  are in  $B(\mathcal{H})$ , then  $(T_1, T_2, T_3)$  is hyponormal if and only if  $((T_1, T_2), T_3)$  is hyponormal.

*Proof.*  $(T_1, T_2, T_3)$  is hyponormal

$$\begin{aligned}
&\Leftrightarrow ([T_j^*, T_i]) \geq 0 \text{ on } \mathcal{H}^{(3)} \\
&\Leftrightarrow \left( \begin{array}{cc|c} [T_1^*, T_1] & [T_2^*, T_1] & [T_3^*, T_1] \\ [T_1^*, T_2] & [T_2^*, T_2] & [T_3^*, T_2] \\ \hline [T_1^*, T_3] & [T_2^*, T_3] & [T_3^*, T_3] \end{array} \right) \geq 0 \text{ on } \mathcal{H}^{(3)} \\
&\Leftrightarrow \left( \begin{array}{cc} [(T_1^*, T_2^*), (T_1, T_2)] & [T_3^*, (T_1, T_2)] \\ [(T_1^*, T_2^*), T_3] & [T_3^*, T_3] \end{array} \right) \geq 0 \text{ on } \mathcal{H}^{(2)} \oplus \mathcal{H}^{(1)} \\
&\Leftrightarrow \left( \begin{array}{cc} [(T_1, T_2)^*, (T_1, T_2)] & [T_3^*, (T_1, T_2)] \\ [(T_1, T_2)^*, T_3] & [T_3^*, T_3] \end{array} \right) \geq 0
\end{aligned}$$

$\Leftrightarrow [((T_1, T_2)^*, T_3^*), ((T_1, T_2), T_3)] \geq 0$  (by definition (3.3))  
 $\Leftrightarrow [((T_1, T_2), T_3)^*, ((T_1, T_2), T_3)] \geq 0$   
 $\Leftrightarrow ((T_1, T_2), T_3)$  is hyponormal □

**Corollary 4.1.** For any  $p < m$ ,  $(T_1, \dots, T_m)$  is hyponormal if and only if  $((T_1, \dots, T_p), (T_{p+1}, \dots, T_m))$  is hyponormal.

**Corollary 4.2.** By remark 2(b) [1], hyponormality of  $(T_1, \dots, T_m)$  is not affected by permuting the operators  $T_i$  and so in view of Proposition(4.1)  $((T_1, T_2), T_3)$  is hyponormal iff  $((T_1, T_3), T_2)$  is hyponormal or iff  $(T_1, (T_2, T_3))$  is hyponormal and so on.

**Definition 4.2.** :  $((T_1, T_2), T_3)$  is weakly hyponormal if  $(T_1, T_2)$  is hyponormal and  $(T_1, T_2, T_3)$  is weakly hyponormal. Similarly,  $(T_1, (T_2, T_3))$  is weakly hyponormal if  $(T_2, T_3)$  is hyponormal and  $(T_1, T_2, T_3)$  is weakly hyponormal.

**Proposition 4.2.**  $((T_1, T_2), T_3)$  is hyponormal implies  $((T_1, T_2), T_3)$  weakly hyponormal.

*Proof.*  $((T_1, T_2), T_3)$  is hyponormal iff the operator matrix  $\begin{pmatrix} [(T_1, T_2)^*, (T_1, T_2)] & [T_3^*, (T_1, T_2)] \\ [(T_1, T_2)^*, T_3] & [T_3^*, T_3] \end{pmatrix}$  is positive, and this implies that  $[(T_1, T_2)^*, (T_1, T_2)] \geq 0$ . That is,  $(T_1, T_2)$  is hyponormal. Also  $((T_1, T_2), T_3)$  hyponormal implies  $(T_1, T_2, T_3)$  hyponormal (by Proposition(4.1)) and this in turn implies that  $(T_1, T_2, T_3)$  is weakly hyponormal (by Proposition 1 [1]). Thus, if  $((T_1, T_2), T_3)$  is hyponormal then  $(T_1, T_2)$  is hyponormal and  $(T_1, T_2, T_3)$  is weakly hyponormal. That is  $((T_1, T_2), T_3)$  is weakly hyponormal. □

**Remark 4.1.** Proposition(4.1) cannot be extended to the case of weak hyponormality because weak hyponormality of  $(T_1, T_2, T_3)$  does not necessarily imply weakly hyponormality of  $((T_1, T_2), T_3)$  as shown by the following example.

**Example 4.1.** Let  $\alpha : \sqrt{\frac{141}{250}}, \sqrt{\frac{2}{3}}, \sqrt{\frac{3}{4}}, \sqrt{\frac{4}{5}}, \dots$  be a weighted sequence with the Bergman tail and let  $W_\alpha$  be the weighted shift operator with weight sequence  $\alpha$ . Then it is shown in Corollary 3.5 [2] that  $W_\alpha$  is cubically hyponormal but not 2-hyponormal.

Let  $T_1 = W_\alpha, T_2 = W_\alpha^2, T_3 = W_\alpha^3$ . Then  $W_\alpha$  cubically hyponormal implies  $(T_1, T_2, T_3)$  is weakly hyponormal. Again,  $W_\alpha$  not 2-hyponormal implies that  $(T_1, T_2)$  is not hyponormal. Hence  $((T_1, T_2), T_3)$  cannot be weakly hyponormal.

**Remark 4.2.** Weak hyponormality of  $((T_1, T_2), T_3)$  does not necessarily imply weak hyponormality of  $(T_1, (T_2, T_3))$  as shown by the following example.

**Example 4.2.** For  $W_\alpha$  given in Example(4.1), we have  $W_\alpha$  is quadratically hyponormal but not 2-hyponormal. Let  $T_1 = I, T_2 = W_\alpha, T_3 = W_\alpha^2$ . Then,  $[(T_1, T_2)^*, (T_1, T_2)] = \begin{pmatrix} [T_1^*, T_1] & [T_2^*, T_1] \\ [T_1^*, T_2] & [T_2^*, T_2] \end{pmatrix} = \begin{pmatrix} 0 & 0 \\ 0 & [T_2^*, T_2] \end{pmatrix} \geq 0$  and so  $(T_1, T_2)$  is hyponormal. Also  $W_\alpha$  quadratically hyponormal implies  $(T_1, T_2, T_3)$  is weakly hyponormal. Hence,  $((T_1, T_2), T_3)$  is weakly hyponormal. But since  $W_\alpha$  is not 2-hyponormal so  $(T_2, T_3)$  is not hyponormal and hence  $(T_1, (T_2, T_3))$  is not weakly hyponormal.

## 5 Main Results

**Lemma 5.1.** If  $(T_1, T_2)$  is weakly hyponormal and  $T_2$  is normal then  $[T_2^*, T_1] = 0$ .

*Proof.* Since  $(T_1, T_2)$  is weakly hyponormal and  $T_2$  is normal, so by Proposition (2.1)  $(T_1, T_2)$  is hyponormal.

Therefore,  $[(T_1, T_2)^*, (T_1, T_2)] = \begin{pmatrix} [T_1^*, T_1] & [T_2^*, T_1] \\ [T_1^*, T_2] & [T_2^*, T_2] \end{pmatrix} \geq 0$ . Here  $[T_2^*, T_2] = 0$  as  $T_2$  is normal and so, by Lemma 2 [1],  $[T_1^*, T_2] = [T_2^*, T_1] = 0$ . □

**Proposition 5.1.** If  $(T_1, T_2)$  is hyponormal,  $T_3$  is normal. Then  $((T_1, T_2), T_3)$  is hyponormal if and only if  $((T_1, T_2), T_3)$  is weakly hyponormal.

*Proof.* In view of Proposition(4.2) we only need to show that if  $((T_1, T_2), T_3)$  is weakly hyponormal then  $((T_1, T_2), T_3)$  is hyponormal under the given condition. Now,

$$\begin{aligned} ((T_1, T_2), T_3) \text{ weakly hyponormal} &\Rightarrow (T_1, T_2, T_3) \text{ weakly hyponormal} \\ &\Rightarrow (T_1, T_3) \text{ weakly hyponormal} \\ &\Rightarrow (T_1, T_3) \text{ hyponormal (by Proposition(2.1))} \\ &\Rightarrow [T_3^*, T_1] = 0 \text{ (by Lemma(5.1))} \end{aligned}$$

Similarly,  $[T_3^*, T_2] = 0$ .

$$\text{Thus, } [T_3^*, (T_1, T_2)] = \begin{pmatrix} [T_3^*, T_1] \\ [T_3^*, T_2] \end{pmatrix} = 0$$

$$\begin{aligned} \text{Hence, } [((T_1, T_2), T_3)^*, ((T_1, T_2), T_3)] &= \begin{pmatrix} [(T_1, T_2)^*, (T_1, T_2)] & [T_3^*, (T_1, T_2)] \\ [(T_1, T_2)^*, T_3] & [T_3^*, T_3] \end{pmatrix} \\ &= \begin{pmatrix} [(T_1, T_2)^*, (T_1, T_2)] & 0 \\ 0 & 0 \end{pmatrix} \geq 0 \text{ (since } (T_1, T_2) \text{ is hyponormal)} \end{aligned}$$

Therefore,  $((T_1, T_2), T_3)$  is hypopnormal. □

Applying Propositions (4.1) and (5.1) we can now extend proposition (2.1) as follows:

**Proposition 5.2.** *If  $T_1$  is hyponormal and  $T_2, \dots, T_n$  are normal operators in  $B(\mathcal{H})$ , then  $(T_1, \dots, T_n)$  is hyponormal if and only if it is weakly hyponormal.*

*Proof.* As (strong) hyponormality always implies weak hyponormality, we only need to show that the converse holds under the given conditions.

As  $(T_1, \dots, T_n)$  is weakly hyponormal so  $(T_1, T_2)$  is also weakly hyponormal which implies  $(T_1, T_2)$  is hyponormal (by Proposition(4.1). Also  $(T_1, T_2, T_3)$  is weakly hyponormal. Therefore by Definition (4.2)  $((T_1, T_2), T_3)$  is weakly hyponormal and as  $T_3$  is normal so  $((T_1, T_2), T_3)$  is hyponormal (by Proposition (5.1)). This gives that  $(T_1, T_2, T_3)$  is hyponormal (by Proposition (4.1)).

Repeatedly applying a similar argument we conclude that  $(T_1, \dots, T_n)$  is hyponormal.  $\square$

**ACKNOWLEDGEMENTS.** The first author is supported by the Department of Science and Technology, and the second author is funded by the University Grants Commission, India.

## References

- [1] Ameer Athavale, *On joint hyponormality of operators*, Proceeding of the American Mathematical Society **103** (1988), no. 2, 417–423.
- [2] I. B. Jung and S. S. Park, *Cubically hyponormal weighted shifts and their examples*, J. Math. Anal. Appl. **247** (2000), 557–569.
- [3] P. R. Halmos, *A Hilbert space problem book*, Van Nostrand Reinhold, New York, 1982.
- [4] R. E. Curto, *Joint hyponormality : a bridge between hyponormality and subnormality*, Proceedings of Symposia in Pure Mathematics **51** (1990), no. 2, 69–91.
- [5] R. E. Curto, *Quadratically hyponormal weighted shifts*, Integral Equations Operator Theory **13** (1990), 49–66.
- [6] R. E. Curto and Sang Hoon Lee, *Quartically hyponormal weighted shifts need not be 3-Hyponormal*, J. Math. Anal. Appl. **314** (2006), 455-463.
- [7] S. McCullough and V. Paulsen, *A note on joint hyponormality*, Proc. Amer. Math. Soc. **107** (1989), 187-195.

**Received: March, 2009**